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B IE )1 hEFX +TSH3TH 0.01 0 0 1 1 0 0 0 0 1 1 ERk225 12828
TE hEFX STEEI2T B 0.00 0 0 1 1 0 0 0 0 1 1 Epk228 1228
)l PHRX hh2TH 0.18 1 44 8 14 0 0 0 0 9 58 ER2358H 268
=] hEX HR4TH 0.02 0 0 1 2 0 0 0 0 1 2 FEk235E8 H26H
Bl PHRX HpFH2TH 0.08 0 21 4 0 0 0 0 0 4 121 ER235E8H 268
/@)l hEFX HPHITH 0.04 0 0 2 2 0 0 0 0 2 2 FEk235E8 H26H
Bl PHRX hEH1TH 0.12 0 8 6 2 0 0 0 0 6 10 ER2358H 268
D IE )1 FHX FEM1TH 0.08 4 4 0 0 0 0 0 0 4 4 k2358 H26H
BhIF )| hEFX +TEH2TH 0.08 2 2 2 2 0 0 0 0 4 4 ERk23%8H26H
BEE) FHX FEM4TH 0.02 1 1 0 0 0 0 0 0 1 1 Ek23E8 H26H
BhIF )| hEFX HHA2TH 0.02 0 0 1 14 0 0 0 0 1 14 ERk23%8H26H
BT )| hEFX FHATH 0.06 4 18 0 0 0 0 0 0 4 18 ERi23%E8H26H
BhIF )| hEFX BR2TH 0.06 2 2 1 1 0 0 0 0 3 3 FRk23%E8H26H
BT )| hEFX BR3TH 0.02 0 0 1 1 0 0 0 0 1 1 FEk235E8 H26H
DO IESF ]I PHRX AN E1TH 0.02 0 0 1 2 0 0 0 0 1 2 ER2358H26R
BT )| hEFX FLLTTH 0.02 0 0 1 1 0 0 0 0 1 1 FEk23E8 H26H
BhIF )| hEFX 52TH 0.02 0 0 1 0 0 0 0 0 1 0 ERk23%8H26H
BT )| hEFX AFET1TH 0.02 0 7 1 1 0 0 0 0 1 8 k2358 H26H
BhIF )| hEFX F=3TH 0.02 0 0 1 0 0 0 0 0 1 0 ERk23%8H26H
BT )| hEFX BE1TH 0.02 0 26 1 2 0 0 0 0 1 28 ERi23%E8H26H
B IF )| hEFX B=1TH 0.02 0 48 1 2 0 0 0 0 1 50 ERk23%8H26H
AN hEFX STIEEI2T B 0.28 2 46 12 30 0 0 0 0 14 76 FEpk235E8 H26H
T )l HEFX IREI3TH 0.14 4 4 3 3 0 0 0 0 7 7 ER2358H 268
AN hEFX STIHE1TH 0.02 1 1 0 0 0 0 0 0 1 1 FEk235E8 H26H
AN hEFX IHE2TH 0.02 1 1 0 0 0 0 0 0 1 1 ERk23%E8H26H
TH ] hEFX SIHE4ATH 0.06 0 16 3 8 0 0 0 0 3 24 Ek235E8 H26H
HER )| PHRX hh2TH 0.01 0 0 1 0 0 0 0 0 1 0 ER25%8H 128
DT )| hEFX E=6TH 0.01 0 0 1 1 0 0 0 0 1 1 Ek25%8 128
B IF )| hEFX #;HA2TH 0.06 1 9 1 1 0 0 0 0 2 10 ERk25%8H 128
T )l hEFX SIHE4ATH 0.02 1 5 1 1 0 0 0 0 2 6 Epk258E8 128
HER )| HEFX hh2TH 0.01 0 0 2 0 0 0 0 0 2 0 ER25%9H 158
D IE 3 I B X E=ATH 0.05 0 0 5 5 0 0 0 0 5 5 L2656 824
)l PHRX EWTH 0.02 0 0 1 1 0 0 0 0 1 1 ER2656H298
/@)l hEFX EERTH 0.00 0 0 1 1 0 0 0 0 1 1 FEk265E6H29H
)l PHRX &5TH 0.00 0 0 1 1 0 0 0 0 1 1 ER275ETH 248
alEELS [FEFX FTEM1TH 0.01 0 0 1 1 0 0 0 0 1 1 Epk27E9IH8H
AIGEFEUSN |PEFX +SH3TH 0.00 0 0 1 1 0 0 0 0 1 1 FERk27%9HA8H
alEELs [FEFX SIHHE3TH 0.00 0 0 1 1 0 0 0 0 1 1 ERE2715%988H
#E HEFX SRAERT1TH 0.01 0 0 1 3 0 0 0 0 1 3 ERL2857H 148
BT )| hEFX $43TH 0.00 0 0 1 1 0 0 0 0 1 1 Ek28FETH 148
BhIF )| hEFX TIRET2TH 0.01 1 1 2 2 0 0 0 0 3 3 ERk285%7H148
BT )| hEFX STEEISTH 0.00 1 1 0 0 0 0 0 0 1 1 Ek28FE7H14H
B IF )| hEFX IHEATH 0.00 0 0 1 1 0 0 0 0 1 1 ERk285%7H148
E hEFX YRAERT1TH 0.01 0 0 1 4 0 0 0 0 1 4 TERi28%E8H3H
BhIF )| hEFX IIRET2TH 0.00 1 1 0 0 0 0 0 0 1 1 Frk28%8H18H
BT )| B X ¥ 0.01 1 1 0 0 0 0 0 0 1 1 LRI04 8250
BIEZF)I hEFX == 0.01 0 0 1 1 0 0 0 0 1 1 ERk30%E8H13H
Il FHX thR 003 0 0 2 3 0 0 0 0 2 3 Epk30&E8H27H
HER )| HEFX K FNAT : 0 0 1 1 0 0 0 0 1 1 ERL30E8H27H
i iE 2 )1 PEX HH 0.02 0 0 2 2 0 0 0 0 2 2 SHTEI0F12B~13H
IS FEFX IHEATH 0.00 0 0 1 1 0 0 0 0 1 1 SH25 75238
E hEFX Hp¥H5TH 0.01 0 0 1 1 0 0 0 0 1 1 SF3F8H14H~15H
DO IE )11 FEFX HAH1TH 0.04 0 0 1 1 0 0 0 0 1 1 SH3E8F14H~15H
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